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1. A current of 2.0 A passes through a cell of em.f 1.5 V having internal

resistance of 0.15 ohms. The potential difference across the terminals of the
cell is:

0.15 3= 3Mf=es Ifcie a1t 1.5 V faane. i 84 9 2.0A S ar7 varted &l
@ 2 | 8 o Tt & ofi= favyarw 2
(A) 135V (B) 1.50V (C) 1.00V (D) 1.20V

The power consumed by a coil is 300 W when connected to a 30 V DC
source and 108 W when connected to a 30 V AC source. The reactance of
coil is :

T PUSE! &l 30 V DC &I &l et W 300 W dieX &t @ud Bt g 3R
30 V AC €10 & S T 108 W =l @Ud &Il & | U ol Tfeamd &

(A) 3 ohms (B) 4 ohms (C) 5 ohms (D) 6.67 ohms

With increase in supply frequency, the dielectric loss in a material will

(A) Increase (B) Decrease [lEE
(C) Remains constant (D) Becomes Zero ™
ST ST | Jig < gHed el wared shi wrerla g1

(A) et (B) =il (C) Frawft (D) @& S

A parallel circuit is said to be in resonance when the admittance is purely :
(A) Capacitive (B) Inductive  (C) Susceptive (D) Conductive
Teh YU GHUY 31ATE | BT & e Y99 g 8

(A) rfiar (B) UThal (C) gartgan (D) TRl

Specific resistance of a conductor depends upon :
(A) Dimensions of the conductor

(B) Composition of conductor material

(C) Resistance of the conductor

(D) Both (A) and (B)

I1ereh o1 fafre gfetiy fek grar 2
(A) =TeTeh o T T (B) =Teteh ugref shl =T I
(C) aTeTeh o Ty W (D) (A) 3R (B) gHi
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6.  Piezoelectric effect is generally observed in :
(A) Insulators (B) Insulators and semiconductors
(C) Conductors and superconductors (D) Conductors and semiconductors

gre - foregd woma wmTra: fow@ts e @

(A) UgshH (B) ek 37 rei=reteh o
(C) =Teteh 3R AfcraTers o (D) =Teteh 3R ef=Terss o
7.  Which of the following inductors will have the least eddy current losses ?
(A) Air cored (B) Iron cored
(C) Wooden cored (D) Laminated iron cored
e § foRg Ik | | e 9T g1 8t ?
(A) 9 shifea (B) wig hifed
(C) e shifed (D) e TIg shifed

8. A single phase transformer when supplied from 220 V, 50 Hz has eddy
current loss of 50 W. If the transformer is connected to a voltage of 330 V,
50 Hz, the eddy current loss will be :

Teh Thel Shell SEHIE I 8 220 V, 50 Hz & 3T &1, a1 YR °r g1+ 50 W
—33;% | Ffe TEBIR T 330 V, 50 Hz dicedt & ST 1T 8, df Yol &Rl g1

(A) 168.75W (B) 1125W  (C) 75W (D) 50 W

9.  The phasor diagram of a transformer on load can be drawn only if we know :
(A) Equivalent circuit parameters of the transformer
(B) Load Current
(C) Load power factor
(D) All of these
T WX FeRdf STAhIER ST el 3T Wi 511 Teha 7, IS 88 71d &
(A) TEBIE % el Tl ST (B) WR 4T
(C) YR 3Ifh T0Teh (D) ug g+t

10. If the percentage resistance of a power transformer for secondary side is
2.5 % and turn ratio is 1:10, the percentage secondary resistance referred to
primary will be :
afe foreft dfer giawiit & fgdiaes urvd o wfaera gfader 2.5% 3R < 3rgum
1:10 B, a1 Srfies = 9fvq gfaera fecdiees afate g
(A) 25 (B) 2.5 (C) 0.25 (D) 0.025
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11.

12.

13.

14.

15.

The transformer efficiency will be maximum at a power factor of

(A) 0.8 leading (B) Unity

(C) O 8 Lagging (D) 0.5 lagging or leading

7=t ST T[UTeh W STHIER Q&TdT STferehad gt

(A) 0.837 (B) Tk

(C) 0.89= (D) 0.5 317 AYaT 9=

The all day efficiency of a distribution transformer will be high with :
(A) Copper losses (B) Iron losses

(C) Operating Temp. (D) Low copper as well as iron losses
fepett forauor grawhie <t quf feae eaqar 3= grft

(A) AT BT o @ (B) g g1 & |1y

(C) Tt dT9HTH oh Gl (D) T am 3R < ' o |y

In a power transformer, the breather is provided in order to :
(A) Filter transformer oil

(B) Prevent ingress of moisture with air

(C) Provide oxygen to the cooling oil

(D) Provide fresh air for increasing cooling effect

e I T YaTEe 39 3299 8 feu I & 2
(A) TEHE I ! fheet i & fore

(B) &4 % H1er Tt 35 ww Y A ot

(C) 3fder de i ATeRTs e o forg

(D) et 9HTd Si@H o foTq dTsit &1 g b forg

The most essential condition for parallel operation of two single phase
transformers is that they should have the same :

(A) kVA rating (B) Percentage impedance

(C) Polarity (D) Voltage ratio

T Tshel oAl BT o U T o U Teiieres e Id & foh 370
T BHT FMRT |

(A) kVAIenm  (B) ufcera dfdamen (C)  gavmar (D) el 31U

In a DC motor, the windage loss is proportional to :

(A) Supply Voltage (B) Square of supply voltage
(C) Square of flux density (D) Square of armature speed
DC HIet H {oS gl 3Heh FHILATC el € -

(A) 3TYfd aeear (B) Y[ SieedT o1

(C) WA ucd ol ol (D) STH=R =T T

5 Code No. : C-573/2019/Series-A



16.

17.

18.

19.

20.

21.

Laminated yoke in a DC motor can reduce :

(A) Speed Regulations (B) Iron Loss
(C) Temperature rise (D) Sparking on load
DC HIeX H TfeTd Aok hH o Hohall &

(A) iaf=mm (B) < Ei (C) auHJhg (D) YR R THfAH

A 04 pole DC generator with 16 coils has two layer lap winding. The pole
pitch is :

ferelt 16 Pugett 9Tt 04 ga DC ST | g1 Wd oY A1Efuen & | ga 1= 8

(A) 32 (B) 16 (C) 08 (D) 04

Determine the flux per pole for 06 pole DC machine having 240 wave
connected conductors which generates an open circuit voltage of 500 V
while running at 1000 RPM.

240 T FASH =Merehi aret 06 ga DC #7fH, S 1000 RPM W 9RETe & GRH
500 V = GaT Ui dieedT a9 it 7, o fofe ufd ga weted Fra hife |

(A) 0.129Wb (B) 0.021Wb (C) 0.042Wb (D) 07 mWb

The current drawn by a 220 V DC motor of armature resistance 0.5 ohms
and back em.f 200 V is :

1(1)%5 @z%arﬁaur%ﬁa 3R 200V 999 fa.91.9. 9reft 220 V DC |1 g0 @it
Bity)

(A) 40 A (B) 44 A (C) 400 A (D) 440 A
The direction of rotation of a DC motor can be determined by :

(A) Fleming’s right hand rule (B) Fleming’s left hand rule
(C) Lenz’s law (D) Ampere’s law

forelt DC wirex <t gui <t fewm fraffa i s wedt 2
(A) RIS AT g B g (B) wITHT o1 91T 81 &1 9w gra
(C) o= &1 frae gr (D) TfRr 1 frem g

A 400 V DC shunt motor takes 5 A at no load. Armature and field resistance
of motor are 0.5 ohms and 200 ohms respectively. What is the ratio of speed
from full load to no load when DC shunt motor takes 50 A on full load ?

T 400V DC ¥1¢ HIet I TR TS5 A ol 8 | Al 3 A=K 3R &3 Jhaid
AT 0.5 3T 3R 200 3 & | DC I WX 6 U7 9”50 A it &, df qoi
YR B S WR T 71l <hT ST I BRTT 7

(A) 0.94 (B) 0.8 (C) 0.6 (D) 0.4
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22.

23.

24.

25.

26.

The torque-speed characteristics of a DC shunt motor is :

(A) A rectangular (B) A drooping straight line
(C) A parabola (D) None of the above

foret DC wie Hiet 1 =Ter-sretret 3tfirereror 3

(A) JIIATHR (B) eht g8 Eieht @

(C) Tae™ (D) 3IWIE T T hIE T8

For efficient operation of DC shunt motor, the additional resistance inserted
in the armature should be :

(A) Increased in steps (B) Cut-out in steps
(C) Left in the armature circuit (D) Removed immediately after start

DC 31¢ HieX & 8T J=Tei o forq, 3rmi=r 3 ey stfafes gfaue
(A) =i | aftfa g9 =t | (B) @MMIH foreig g1 =fRT |
(C) AT INUY & S AT A1 | (D) WIE 8H o J1E g 821 ol TTfeT |

The field system of an alternator is usually excited at :

(A) 250/250 V DC (B) 110/220 V DC

(C) 03 phase 50 c/s, 400 V (D) 230V AC EE
ferelt arTeetet =1 & frer yrr: 33 grar ® g
(A) 250/250 V DC (B) 110/220 V DC

(C) 03 el 50 c/s, 400 V (D) 230V AC

The angle between induced e.m.f and terminal voltage on no load for a
single phase alternator is

(A) 180 Degree (B) 90 Degree (C) 0 Degree (D) None of these
Tehel Shell JMeetiel o T I R W I fa.a1.9. 3R il dicear & i

10 BT 8
(A) 180feth  (B) 90feh (C) 0 feht (D) 39 & &g T&

Power factor of an alternator driven by constant speed prime mover can be
changed by changing its :

(A) Speed (B) Load

(C) Field excitation (D) Phase sequence

TH =T Y189 Yok g Afetd 3ATeeiet i itk Tursh $HH UiEd shich qHafdd
[ERISIECTIRE

(A) =l (B) ¥R (C) 8-3H (D) el SigHH
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27.

28.

29.

30.

31.

A leading power factor load on an alternator implies that its voltage
regulations shall be :

(A) Positive (B) Negative (C) Zero (D) Any one of'these
TRl STTeetel X 373 1Tk TUTeh IR Hf=rd LT & Tob 381 diceal fom= g
(A) YT (B) HUICHh C) I (D) T A &g oft

In a 03 phase synchronous motor, the magnitude of field flux :
(A) Remains constant at all loads  (B) Varies with load

(C) Varies with speed (D) Varies with P.F.

03 AT JeoehTelt TIC T & Tt T TR

(A) Tt TR R e T g | (B) YR % O1Y SCeAdT 2 |

(C) =TS & H1Y TEeAdT 2 | (D) fekd T[UTeh o T AT 2 |

In a 03 phase synchronous motor, the magnitude of back emf set up in the
stator depends on :

(A) Rotor excitation (B) Supply voltage

(C) Rotor speed (D) Load on motor

03 el gedehTelt A1t § Wt ¥ uvd fa.a1.9. Sraem fvft g 3
(A) U 3T | (B) dieedl 3Mfd T

(C) U I W (D) I W U T

A 03 phase synchronous motor is widely used for :

(A) P.F.improvement

(B) Control of voltage at the end of a transmission line
(C) High torque loads

(D) Fluctuating loads

03 el Jeahlcl! WIS I STIeh €9 § T BT &

(A) e e gam < fer

(B) URNUI TS o 31=d H dleedl =1 3 forg

(C) 3= T30 WR o ToTq

(D) 3= R % foq

In a hysteresis motor, the rotor case must have :

(A) Retentivity (B) Susceptibility (C) Resistivity (D) None of these
fewe e Aiet #, Tt 4 H B =T8T

(A) HTordr (B) gufgar  (C) wfigehar (D) T & I A

Code No. : C-573/2019/Series-A 8



32.

33.

34.

3S.

36.

37.

What is the material of slip rings in an induction machine ?

(A) Carbon (B) Nickel

(C) Phosphor Bronze (D) Manganese
IRoT Tef B |t aor 1 uerd grar @

(A) e (B) et (C) ®IEBR SN (D) TN

The maximum possible speed of a 03 phase squirrel cage induction motor
running at a slip of 4 % is :

4% T X = T 03 AT IS Y07 Wit hi Tferehan grfad 91et &

(A) 850RPM  (B) 900RPM  (C) 950RPM (D) 1000 RPM

What is the frequency of rotor current of a 50 Hz induction motor operating
at 02 % slip ?

2% FU T J=TAd 50 Hz SROT Hiex <h UK 9T <hi ST feha1 8 7

(A) 01 c/s (B) 100c/s (C) 02c/s (D) 50c¢/s

The power factor of 03 phase induction motor is likely to be maximum
when it will operate at :

(A) Full load (B) No load B
(C) Maximum slip (D) Maximum torque "
03 el 0T TS 1 HATIehay Tk T[UTh HHIE § SI6 I8 TTerd arfl

(A) 0 HR R (B) I WRR

(C) fershay |Yur I (D) 3TRrehay o1 3Teul T

The advantage of double squirrel cage induction motor over single cage
motor is that its :

(A) Efficiency is higher. (B) P.F. s higher.

(C) Slip is larger. (D) Starting current is lower.
T~ TS ST Wit =1 Tohet TSl AT WA I 2 6

(A) 3Eh! G&AT 3= BI & | (B) SHsh! Ifad T[UTeh 3= BT 2 |
(C) 35T BYTT HATH BT R | (D) 3Heh! IR g0 e B B |
Capacitor in a single phase induction motor is used for :

(A) Improving the P.F. (B) Improving staring torque
(C) Starting the motor (D) Reducing the harmonics
Tehel el ITo Hiet H Gl wogeh g 8

(A) Ifed T[T GUR 6 foTg (B) TR §¢T- 3Tl R o for
(C) WA W HH & few (D) B o i o foTg

9 Code No. : C-573/2019/Series-A



38.

39.

40.

41.

ACSR conductor have

(A) All conductors made of aluminium.
(B) Outer conductors made of aluminium.
(C) Inner conductors made of aluminium.
(D) No conductors made of aluminium.
ACSR 9107 ¥

(A) Gt =mets Tgffm 6 99 8 & |

(B) aTE =Tetesh T o 94 Bl & |

(C) SAT<IIeh TTeTeh UHT-=H & 54 8Id & |
(D) IS =TeTeh Ui & TEl 8 @ |

The sag of the conductors of a transmission line is 2.5 mtrs when the span is
250 mtrs. Now, if the height of supporting tower is increased by 25%, the
sag will :

(A) Reduce by 25% (B) Increase by 25 %

(C) Reduce by 12.5% (D) Remains unchanged

T 250 Hiex faegfa areft uRyw A o @rerehl o e 2.5 M 7 | 3 Afe
ATAR (e shl HaTS 25%  F@T8 A1 |, I ATl BT

(A) 25% 92 g3 (B) 25% dgr g3

(C) 12.5% =eT gam (D) 3mfafda

100 % string efficiency means :

(A) One of the insulator discs shorted.

(B) Zero potential across each disc

(C) Equal potential across each insulator disc
(D) None of these

100% HTAT G&TaT 1 318 &

(A) Tfshept faggatios § 9 U BIA 8

(B) S Afshehl W I fava

(C) S Afshehl ToeIaiioe W gHH fawe

(D) 370 T IS TE

Which of the following results in a symmetrical fault ?

(A) Single phase to earth fault (B) Phase to phase fault

(C) All the three phases to earth fault (D) Two phase to earth fault
7 9 9 %A 9w g § gionfid g g ?

(A) THel el § Y-QIY (B) el T Hell

(C) =¥t T herati & Y-ay (D) & hell ¥ Y-ay

Code No. : C-573/2019/Series-A 10



42.

43.

44.

45.

46.

IDMT relays are used to protect the power transformers against :
A) External short circuits B) Overloads
C) Internal short circuits D) Both (A) and (B)

UTe JTEHIHT o 3 g 18101 o Tt IDMT Tiet =1 J=IWT Tt it &
(A) T8 g 9ud (B) 3tfaymem '
(C) 3Ttk <1g o (D) (A) 3 (B) gHl

DC series motors are very suitable for heavy duty applications such as
electric railways rolling mills because of :
A) Low initial as well as maintenance cost
Bg High starting torque
C) Possibility of speed control
D) Nearly constant speed

forer o e fiew S8 Wl SRl (B gg¢t) ST % faw DC Sl Al
FFefereh U &

(A) T ymfeires 3T TReT0T ST o hro

(B) 3 YR &1 - 3TTEUT o ShIROT

(C) =T =10t Sht TEqTaT o BT

(D) T frr =Tt & R

A domestic mixer uses which motor ?

(A) Induction motor (B) Reluctance motor
(C) Universal motor (D) Synchronous motor
] forerem W forg wiet 61 SR BT 8 ¢

(A) UTHRX (B) Ufqew AR (C) Wb A (D) qedehliore Hiet

The temperature inside a furnace is usually measured by

(A) Mercury thermometer (B) Optical pyrometer

(C) Alcohol thermometer (D) None of these

Sl & 3Tl 99 T=: 98k g1 {191 {17 @ -

(A) TRl guTHIeR (B) 3Mifeehet qriHiex

(C) Tcwhigicl YHHI (D) T 8 HIE G
Resolution of an instrument is : ok
(A) The minimum quantity it can measure fel

(B) The maximum quantity it can measure
(C) The maximum non-linearity it can measure
(D) None of these

foreft Suehtor ot fisiiegs &

(A) =TT TTAT S I HY Hhell B |

(B) 3fereha™ O ST g WY bl 8 |
(C) Aferehad IRGIAT ST IE AT Hehell B |
(D) 70 T IS TE

11 Code No. : C-573/2019/Series-A



47.

48.

49.

50.

51.

52.

The scale of an electrodynamometer usually reads the :
A) Average value of the AC B) Mean value of AC
C) Effective value of AC D) Squared value of AC

e SISt s 9T ITI: vedl &
(A) AC &1 3fad a4 (B) AC 1 4189 A1
(C) AC &1 99Tt 71 (D) AC &&=

Which displacement transducer is used for accurate and linear
measurement ?

EA) LVDT gB% Strain Gauge

C) Potentiometer transducer D) Capacitive displacement

T} 3R T AT h fore fope foreemam T T BT & ?

(A) LVDT (B) O]

(C) Tarwammd g (D) i feredmoH

Early effect in a bipolar junction transistor is caused by

A) Fast turn on B) Fast turn off

éﬁ) Large collector-base reverse bias ?D% Large emitter-base forward bias
~ga |y T 315 T9Te $Heh 0T BT & -

(A) e T M (B) WIE T AT

(C) J&q T 39 Ik s=d (D) & Icdsioh IR 373 a1d

To obtain very high input and output impedance in a feedback amplifier, the

topology mostly used is :

(A) Voltage series (B) Current series

(C) Voltage shunt (D) Current shunt

q: e gereies § 3rf = fesft 3R forfd sfasmen gme st o fere weriferss
ERGARII

(A) dicearguft  (B) Gwy vl (C) deearse (D) YW

An ideal OP-AMP is an ideal :
A) Voltage controlled current source.
B) Voltage controlled voltage source.
C) Current controlled current source.
D) Current controlled voltage source.

Teh 3T OP-AMP 2 T
(A) deeal Faf=a g Ed (B) dieear faf=ra dieear €

(C) g fraf=a g (D) am faf=ra dieedt |

A Zener diode when used in voltage stabilisation circuits, is biased in
A) Reverse bias region below the breakdown voltage.
B) Reverse breakdown region.
C) Forward bias region.

D) Forward bias constant current mode.

Teh S STATS ol I aleed] TAR—EHRI aiaei § F2 fehat STar 8, 31iimd giar @
(A) YIS dieedl & e T SARFAT & (B)  Td19 Hleh &
(C) 31 AT & (D) 3 Al Fra e

Code No. : C-573/2019/Series-A 12



53.

54.

5S.

56.

The output of a logic gate is “1” when all its inputs are at logic “0”. The gate is :
(A) ANAND oran EX-OR gate. (B) A NOT or an EX-NOR gate.
(C) An OR or an EX-NOR gate (D) An AND or an EX-OR gate.

Teh ATToTeh T o1 f1a 17 B e 38eh Tt forar Aifores “0” WE | fie? -
(A) NAND 31a1 EX-OR ¢ (B) NOT 31d1 EX-NOR 72
(C) OR 31Ua1 EX-NOR 72 (D) AND 31a1 EX-OR 2

The logical expression Y =A + A B
Y = A + AB I ATfcheh SI5Teh &

(A) AB (B) AB (D) A+B (D) A+B

Which of the following cannot be an input that is given to the PLC ?

(A) Manual Switches (B) Relays

(C) Sensors (D) None of these

=1 4 9 o519 e e 71 81 wehar 8, S PLC & fean Siran g 2 '

(A) @ feem (B) T (C) & (D) 3 | 13 Tl

Consider the given circuit. In the circuit, the race around :

T
e S S D =

(A) Does not occur. EE
(B) Occurs when CLK is 0 =
(C) Occurs when CLK is 1 and A=B =1

(D) Occurs when CLKis 1and A=B =0

feu e ufter o1 e Shif | 59 iy ° W 3nRe
D, S

CLK L

e T

(A) 3= TR E@Ie |

(B) S99 B2 9ie CLK 0 BT 2§ |

(C) SUAEA 2 CLK 1 3lRA=B=1%a? |
(D) SUF A 2aa CLK 1 3IRA=B =082 |

13 Code No. : C-573/2019/Series-A



57.

58.

59.

60.

61.

62.

A modern power semiconductor device that combines the characteristics of
BJT and MOSFET is called :

T 3T itk Ad=TeT S BJT 3R MOSFET st faemarsti s fafda s
&, HeEdl &

(A) GTO (B) FCT (C) IGBT (D) MCT

A thyristor has a PIV of 650 V, the voltage safety factor is 2, then the
voltage upto which the device can be operated is given by :

Teh YRR H 650V &1 PIV 7, Sieedl GLaT TUTeh 2 &, Al dieedl o8 deh STehLul

<! SITTerdl ToRarT ST Hehell & 368 &) STt & -

(A) 1300V (B) 650V (C) 325V (D) 230V
TRIACs can not be used in AC voltage regulator for a/an

(A) Resistive load (B) Back e.m.f. load

(C) Inductive load (D) Resistive Inductive load.
AC e f4ameh | gr1eh (TRIAC) =61 3T &1 T ST Tl 8

(A) Sfeteft R o foru (B) u¥d faar.a. yr s foru
(C) T WR ferw (D) wferieft I R & forw

A power chopper converts :

(A) ACtoDC (B) DCtoDC (C) DCtoAC (D) AC to AC
qieR T T hidl &

(A) ACH DCH (B) DCH DCH (C) DCH ACH (D) ACHI ACH

An SCR has half cycle surge current rating of 3000A for 50 Hz supply. One
cycle surge current will be

U SCR H 50 Hz 3mqfd & fofu 37 ok Wy 9rT AT 3000A 8 | Th Ik
Sicehy GRT It
(A) 1500A (B) 6000A (C) 2121.32A (D) 4242.64A

A single phase full bridge inverter can be operated in load commutation
mode in case load consists of

(A) RL (B) RLC underdamped

(C) RLC overdamped (D) RLC critically damped

Tehel hell quf Tg JcTueh sl YR fespuftad Are o Jeferd feram ST wehar 8 o1 9N
EECEEIKE

(A) RL (B) RLC =3 3aHf<d

(C) RLC 3fa sramf<a (D) RLC shif=ieh 3remf<d
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63.

64.

6S.

66.

67.

68.

69.

If holding current of a thyristor is 2mA, then latching current should be
Ife Teh AT hl g 91T 2mA ®, A1 A= am gl =t

(A) 0.01A (B) 0.002A (C) 0.009A (D) 0.004A
Thyristor can be protected from over voltages by using

(A) Voltage clamping device (B) Fuse

(C) Heat sink (D) Snubber circuit

ek TN gRT ATATNET shl 37T Aleedt § L& hl ST Hehell 2 -

(A) dieeal FAfe fearsa (B) W

(C) Brefoes (D) &R uiay

Typical range of thyristor turn-off time is
ATARE T -3 31Ty i T E 2

(A) 3-10us (B) 3-50us (C) 3-100us (D) 3-500us
A.A is equal to

A.A 35 SO 3 -

(A) A (B) A € 0 (D) 1
Latches are circuits which are s
(A) edge triggered (B) level triggered =

(C) pulse triggered (D) count triggered
NEERICCEEE IR

(A) ®rfarg (B) waafare  (C) wafoEd (D) wewefarE

If a hexadecimal no. needs to be converted into binary. For each
hexadecimal digit, there will be how many bits ?

Ife FFRATSHITS &A1 ! S50 § UREfdd ST &1, T sqaTeyHe 37 o [y
fopa fee B 7

A) 1 (B) 2 € 4 (D) 8
Truth table is used to express

(A) Boolean expression (B) Boolean map

(C) Boolean matrix (D) Boolean addition

FT Sk i b o0 T Roft sh1 ST R ST 2 7
(A) Sefses (B) sef@du (C) sefmdfgrm (D) sefam
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70.

71.

72.

73.

74.

75.

How the digital signals are transmitted through a single conductor ?

(A) Parallel (B) Analog (C) Serial (D) None of these
fefTeet Tehdl sl Tehdd IToTeh W v Yok IRfNG fepam STt 2 7
(A) FHT< (B) AT (C) #oft (D) $FH & IS el

Which network protocol is used to send E-mail ?

3Tl U9 o T forg Aeaeh Tieienlct o1 AT fopam SiraT @ 2

(A) FTP (B) SSH (C) POP3 (D) SMTP
Another term for main memory is

(A) Harddisk (B) ROM (C) Floppy disk (D) RAM
& Sfd (B9 3aRY) % e 3= 9w &

(A) gefess (B) Tm (C) wdifees (D) W

In the left hand rule, fore finger always represents
(A) Voltage
(B) Current

(C) Magnetic field
(D) Direction of force on the conductor

I B T 8 Aol g v i &

(A) areed (B) om

(C) Trehid &= (D) =Teteh W & hi fesm
The change of cross-sectional area of conductor in magnetic field will affect
(A) Reluctance of conductor (B) Resistance of conductor
(C) Both (A) & (B) (D) None of these

T & H FTeTeh o STIIEY I &7 H TG THIfad ST

(A) =TT o JfasFy =i (B) =TeTeh o Jicie <l

(©) (A) 3 (B) THT =!I (D) ¥ & g 7

The lines of force due to charged particles are

(A) Always straight (B) Always curved

(C) Sometimes curved (D) None of these

AT Uil o B et {ETd Bl &

(A) gam dieft (B) BHSI dfsha

(C) Hefi—=heft afsra (D) & & hIg T
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76.

77.

78.

79.

80.

81.

82.

Which material/compound behave like perfect insulator at low temperatures
& conductor at high temperature ?

(A) Si (B) Ge (C) GaAs (D) All of these
S A1 el /i e a3 foRaiiaes 3R 3= auH W ATerh i
TE SHATET T & ?

(A) Si (B) Ge (C) GaAs (D) ¥g &+t

The number of orbiting electrons in germanium atom are
SR 9] | Shefid Soieel Shl T 7
(A) 28 (B) 42 (©) 36 (D) 32

Without a DC source, a clipper acts like a
(A) Rectifier (B) Clamper (C) Demodulator (D) Chopper
DC 9d o o1 Feliot 3Heh! g 1 hidl 3 -

(A) URHRR (B) TR (C) feureix (D) IW

Class-B amplifier is biased

(A) At mid-point of load line (B) Just at Cut-Off

(C) Nearly twice Cut-Off (D) None of these

1-B i A 2 2 =
(A) ¥R AT % 7 fog W (B) 3k fa=ae W ™
(C) T et fereaie W (D) 8 &I TE

Five Capacitors each of SuF are connected in series, the equivalent
capacitance of the system will be

T SuF o Ure HUTRA Sofishd H SIie I1d & | Fepr shi 3ot aniar grft

(A) SuF (B) 25uF (C) 10uF (D) 1uF

If P is the power of a Star connected system, then what will be the power of
an equivalent Delta connected system ?

(A) P (B) 3P (C) P/3 (D) None of these
e TR G e 1 9Ter P B, A1 God Sel Gl fHehTa <hl aiek oI gt ?
(A) P (B) 3P (C) P/3 (D) T | g T&

Which of the following has no units ?

(A) Permeability (B) Moment of a magnet

(C) Magnet Susceptibility (D) Permittivity

= o 9 fopeehl S5 TR 2 ?

(A) Trarehsfietar (B) Frarehra STeul

(C) Frarshra mmfeat (D) ferggamfierar
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83.

84.

8S.

86.

87.

88.

Skin effect occurs, when a conductor carries current at

(A) Very low frequency (B) Low frequency
(C) High frequency (D) None of these
o YT 39S BT & ST6 ATeteh YT I8 il @

(A) 3Afd = gk w (B) = g W
(C) 3= N W (D) T ¥ g T&

For symmetrical waveform, average value of one full cycle is

it T o fofe, e qut =3k 1 3fted 7 7

(A) 1 (B) 1.11 (C) 2.22 (D) 0

Bundled conductors in EHV transmission lines

(A) Increases inductance (B) Increases capacitance
(C) Decreases inductance (D) Decreases capacitance

EHV RN ATl H S8 TTeleh
(A) TSR E | (B) wRd«g e |(C) IO Eed e | (D) o =ea g |

Skin effect depends upon

(A) Frequency (B) Conductivity
(C) Relative permeability (D) All of these
[ClCEREICAER TR

(A) IR T (B) =TeTehdl W

(C) Tufersh Frarehsficral I (D) Faf ™
Water hammering occurs in

(A) Surge tank (B) Turbine casing
(C) Penstock (D) All of these

/
STITTd 3¢9 BldT &

(A) STAA PUSH (B) TWEEADIH (C) WRiHH (D) ot d

For harnessing low variable water heads, the suitable hydraulic turbine with
reaction and adjustable vanes is

(A) Francis (B) Impeller (C) Kaplan (D) Pelton

o T o1 Sfid % werar o fete wfafsran 3t aumsHR o aTeft Swps g
EUNGRACIEE R

(A) wifeE (B) 3R (C) F=H (D) UeeH
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89.

90.

91.

92.

93.

94.

Ideal value of voltage regulation of a device is

(A) Infinity (B) Zero

(C) A positive finite value (D) A negative finite value
ot feamsm o dicedt fema & fow 3trest 9 2

(A) I (B) I

(C) T gt i aH (D) Teh HUTTcHe Hivad A

Hydro generators are generally employed to run at

o9 ST BT T W =™ o faw m o Sird 8
(A) 500 rpm (B) 1000rpm  (C) 1500rpm (D) 3000 rpm

An induction motor and synchronous motor are connected to a common
feeder line. To operate the feeder line at unity power factor the synchronous
motor should be

(A) Over excited EE

(B) Under excited fel

(C) Normally excited

(D) Disconnected from the common terminals

Teh TRUT HIeX 3R qeIehlioreh T ATHIT UINeh I1e & SIS STl @ | UIeh ofre
%I Teheh ITferd TUTeh T TATeAd i oh T geehlicteh HICL BT AT

(A) 3fa Ffa (B) =1 3ufa

(C) =M= 3afsa (D) M= <fie & fernfora

A wound rotor induction motor can be distinguished from squirrel cage
induction motor by
gA) Presence of slip-rings B) Size of frame

C) Shaft diameter D) None of these

Teh FHUSTeTd Tt SRUT [T ohi TUert Swor viex & fasifeq fopam < wehar 8
(A) Tdf gor st Iufefa o g (B) W I A18 g
(C) e =& R (D) T H Ig T&

If an induction motor is operating at 60% of its synchronous speed, the
maximum efficiency under i1deal conditions (theoretically possible) is

Ife T 0T T FHhI 60% ToIehlel! Il W I @ &, al JraE3
(BgTi=er grva) % 31 3Tierehan carar gt 8
(A) 100% (B) 40% (€) 50% (D) 60%

Horizontally mounted moving iron instruments employ

A) Eddy current damping B) Air friction damping

C) Fluid friction damping . D) Electromagnetic damping
‘ =T Tiig 3TN ST H ol 3

(A) YeR YT FTHCH (B) 9T oNUT ST

(C) Zd 9N 3= (D) Torga-grare 31
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9s.

96.

97.

98.

99.

100.

101.

A (0-250V) Voltmeter has a guaranteed accuracy of 2% on full scale
reading. What is the percentage error if it measures 150V ?

TS (0-250V) dieedfiet ¥ qul IqMT ureeie W 2% Gl hl M g | Al T8
150V T 7, <1 Jf o1 Tfemra e ?

(A) 2% (B) 3.33% ©) 5% (D) 1%

A spring controlled moving iron voltmeter draws a current of 1mA for full

scale value of 100V. If it draws a current of 0.5mA, the meter reading is

s & faf=a 9a @i dieeHie 100V % 90t 39HT 7H @ fe ImA &t g
At 2 1 9f¢ 7% 0.5mA 9T At B Y WieX q1S=Th Bl 8

(A) 25V (B) 50V (C) 100V (D) 200V

The deflecting torque of a moving iron instrument is

T TTg SUIUT T TI&TTeh ToT-3Te0l BT &
(A) BdL/d®  (B) (12)1AdL/de(C) PBdL/d® (D) (1/2)1dL/de

The measured value of a resistance is 10.25Q, whereas its value is 10.22Q.
What is absolute error of the measurement ?

uﬁﬁagrﬂﬁamlo.zsgé,aaﬁwmlo.zzg% | HTo bt I g
feha1 & ?
(A) 0.01 Q (B) 0.03Q (C) 1536Q (D) 1026Q

Air exhibits

(A) Ferromagnetism (B) Paramagnetism

(C) Anti-ferromagnetism (D) Ferrimagnetism
EIRRHNLETCIR

(A) dArB-T=hE (B) AR

(C) wfi-<iig Jraehcd (D) WG

The best variety of copper from the point of view of electrical conductivity is
(A) Pure annealed copper (B) Hard drawn copper

(C) Induction hardened copper (D) Copper containing silicon traces
foreIa =TeTehaT o GIEhIV € Shiw i 30 fher &

(A) g 3rfiford siw (B) 3R HiNd BT

(C) 1 H3IMd HIR (D) H&H 9T T4leTshi aTeT SHid

The converse of magnetostriction effect is
(A) Villari effect (B) Curie effect (C) Skin effect (D) Seebeck effect

b forequr yure 1 foafia &
(A) foemiywa (B) &iywE  (C) @aiyvE (D) Hissh g9E
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102.

103.

104.

10S.

106.

There is no hole current in good conductors because they
(A) have overlapping of conduction and valence bands.
(B) have no valence bands.

(C) have large forbidden energy gap.

(D) are full of electron gas.

gearersh B e a7 2 2, ifs

(A) TH T TR TS ¢ ST (TSI ST 2 |

(B) S IS HaS 99 & BT § |

(C) ¥4 geq fiftg St et gran 2 |

(D) SR TEd WA 2 |

The measurement of which one of the following will reveal the sign of
charge carriers ?

(A) Conductivity (B) Mobility

(C) Hall Coefficient (D) Diffusion constant

fr= 1 9 formemt 719 3119 T8 AT Hehd RITE ?

(A) STeTehdl (B) Tfsfilar  (C) ®@ins (D) fomo fadaes

Branch circuit must not feed more than points.
TRET 91T forg @ 31Tk 19T 181 <1 =R |
(A) 12 B) 5 (©) 10 (D) 8

What is meant by contingencies ?
(A) The list of required components are included in this category.
(B) The list of vague and unforeseen items is included in this category.
(C) The list of components along with their discounted price is included in
this category.
(D) Both (A) and (B) ElEE
T R AT 8 7 A
(A) STTETIeh adi bl G oIl 39 S0ft § SmHet & |
(B) 3ToUE 37R 375% Wal <h! F=ht 5t 39 vft  smfirer 7 |
(C) Tl <hl Ieh! TeTehtl hIHd o A1 T 311 59 2oft & wmivret 2 |
(D) (A) 3T (B) gH

The cheapest system of internal wiring is

(A) Cleat (B) Casing & capping
(C) CTS & TRS (D) Conduit

ST AT < Te¥ Tl Tt &

(A) Fefle (B) <k 37 Hftm
(C) CTS 3 TRS (D) Fesc
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107.

108.

109.

110.

111.

112.

The thickness of insulation provided on the conductor depends

(A) Current Rating (B) Voltage rating
(C) Both (A) & (B) (D) None of these
TeTeh W &1 5 Tore[arierss shi Hiers fv Bt 8

(A) & e (B) deedr e

(C) (A) 3R (B) (D) T & IS T
Which of the following is not used as earth continuity conductor ?
(A) Gas pipe (B) Water pipe

(C) Structural steel members (D) All of these

P i & i Y- AT e 3 e T fR A 7
(A) THEUIEd (B) e dT3y

(C) |TEATeHS T 7994 (D) I8 asft

In case of fluorescent tube if only the ends of the tubes remain lighted, it
indicates that

(A) Starter is short circuited. (B) The choke is defected.
(C) The tube is defective. (D) None of these

ieifeH S % el § afe sheel SIa o R Teh1idrd & €, 1 98 il
(A) WY uiya g | (B) I G & |

(C) TEEEE | (D) 0 O His T&

The fluorescent tube in comparison to tungsten filament lamp has the
advantage of

(A) Low cost (B) Longer life

(C) Simple installation (D) None of these

dCH e 1 TR ThATHS T1Fd i T H T BT &

(A) F@m@a (B) o Sieehial (C)  OX ARSI (D) 398 & I3 81

The inductive reactance of a transformer depends upon

(A) EMF (B) MMF (C) Leakage flux (D) None of these
STAHTET ST ITeh Terermd st ohiar 3

(A) EMF W (B) MMF®  (C) &% W (D) 9 ¥ HIS 781

The supply frequency usually employed for high frequency eddy current
heating is

I IR 9ok g AT < fT 9T ST 31Tfd o off St &

(A) 1kHz (B) 5kHz

(C) 10kHz (D) 10 kHz to/& 400 kHz
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113.

114.

115.

116.

117.

The power required for electro-deposition is

(A) DC and very low voltage (B) DC and high voltage

(C) AC and very low voltage (D) AC and high voltage

g ferwor < foTg sATevareh wien @

(A) DC 3R 3fa fr= dreean (B) DC 3R 3= dieedl

(C) AC 3R 31fd fr= dreean (D) AC 3R 3= dieedr

Eureka is an alloy of

(A) Nickel and chromium (B) Nickel and copper

(C) Iron, chromium and aluminium (D) Nickel, chromium and aluminium
(A) Terer 3R shiftem (B) Trehet 3R i

(C) 3, ShifH R ueat=m (D) Tiohdt, shiftem 3R wefifrm

Non-consumable electrodes are made of

(A) Carbon

(B) Graphite

(C) Either carbon or graphite

(D) Same material as the metal pieces to be welded

1A Sl IS & BId &

(A) e H

(B) T®IEE S+ E5E
(C) e 31dT THT3C r

(D) dcg fohu I aTet &g Tohel < THH Tered

Voltage required for Butt welding is

(A) 2-8 volts (B) 10-20 Volts

(C) 20-30 Volts (D) Above 30 Volts

¥ dosd o foTu 3Taverh dieedl 3

(A) 2-8dlee (B) 10-20 dee

(C) 20-30 92 (D) 30 diee | 3ATh

Power factor of a Power Transformer on no-load will be

(A) Unity (B) 0.75 (C) 0.5 (D) 0.35
I 9T I U7 ZRABIHL 3T STk T[0Teh BT

(A) Theh (B) 0.75 (C) 0.5 (D) 0.35
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118. Which of the following losses is/are for short circuit test on a transformer ?

(A) Copper loss (B) Iron loss

(C) Copper & iron loss (D) None of these

71 5 & oo & grfat foneht g T @7 9o wierur < fee g ¢
(A) dmE & (B) e Bl

(C) dmH 3T oig g (D) 78 A HIE T

119. Transformer will operate at maximum efficiency when
(A) Hysteresis loss = eddy current loss (B) Eddy current loss = copper loss

(C) Copper loss = iron loss (D) Hysteresis loss = copper loss
TR STTUehaH G&TaT o €1 S=TeTd 81T

(A) effmma=vmamat  (B) va g gl =awaf

(C) T &I =g &1 (D) feefdfom &rfy =am =y

120. On no-load phasor diagram of transformer, the core loss component of the
current remains in phase with

(A) No-load current (B) Primary supply voltage

(C) Core flux (D) Primary induced Voltage

BT o IR YR T %ol 3TRE W, €T o $hIS 1 ©eeh el § T&d &

(A) I IR 91T < T (B) wrfiyes et deear o @y

(C) hIS eTad o 1Y (D) rufires Ufea dieedT o a1
121. Population wise smallest district of H.P. is

(A) Hamirpur (B) Bilaspur

(C) Kinnaur (D) Lahaul & Spiti

e o STTER feuTeet Tew 1 9a8 Bl el 8

(A) TR (B) forerage

(C) forat (D) <&t 3R wfifa
122. Inder Kila in H.P. is a

gA) Fort EB) Palace

C) Mountain Peak D) None of these

fermTered rew | e fehetl B, T '

(A) gl (B) s (C) W& (D) FHH B T
123. Mulang Valley is located in which district of H.P. ?

EA; Kullu B) Sirmour

C) Lahaul & Spiti D) Shimla

o =t femreret wew % fopm forer & feea 2 7

(A) F, (B) farwir

(C) v 3R wfifa (D) e
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124. Chander Nahan lake is located in which district of H.P. ?

(A) Lahaul & Spiti (B) Shimla
(C) Sirmour (D) Kinnaur
Tt AT ¢ et e o fopm et B fevra & 2
(A) wTEre 3R whifa (B) fmen s
(C) fauiir (D) ek ™
125. Vedic name of river Yamuna is
(A) Askini (B) Arjikiya (C) Kalindi (D) Purushni
AT <] T Afeeh T &

(A) ATt (B) aAfSifeRan (C) hifetl (D) et

126. The founder of Keonthal princely state was
(A) Prithvi Singh (B) Karan Chand (C) Ram Singh (D) Giri Sen
foRaiet TTEl T <hT FEATTH AT
(A) gHifis (B) ®WaA< (C) UmiEg (D) fifEm

127. Rani-Ka-Kot Fort is located in which district of H.P. ?

(A) Mandi (B) Shimla (C) Kangra (D) Chamba
THt-h1-ahle fehert feumaret wewr < fopa for o feora 2 7
(A) HUEl (B) femen (C) el (D) =
128. Narvadeshwar temple is located at which place in H.P. ?
(A) Sujanpur (B) Pa‘lampur (C) Nahan (D) Ghumarwi
AR A fermael yew # fopm T W fRa 2 7
(A) R (B) TR (C) T (D) ot
129. Who was the king of Chamba when Jahangir visited it in 1621 AD ?
(A) Sahil Varman (B) Lakshman Varman
(C) Balabhadra (D) None of these

T T TS hI9 AT 1621 5. H TEIR A I&1 <hl I <6t ?
(A) @iigd sl (B) weduiadd  (C) woig (D) 378 ¥ 13 T&

130. Which Muslim ruler invaded Kangra & plundered its temples in 1009 AD ?
(A) Mohammad Gauri (B) Nadir Shah
(C) Mehmood Ghaznavi (D) None of these
fer® et ek 4 1009 3. T SHITTST T IATHAT TohaT 3R 36 AfeTi ol T ?
(A) AEFE T (B) A e (C) HeHE TSMel (D) T € hig TR
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131.

132.

133.

134.

13S.

136.

137.

How many members were in the first Legislative Assembly of H.P. ?

(A) 26 (B) 32 (C) 35 (D) None of these
fewmarer wewt sty fagmaw § fhad ae= 9 2

(A) 26 (B) 32 (C) 35 (D) T & IS TE
The ‘Gujjars’ of present H.P. are the descendents of

(A) Huns (B) Mongols (C) Afghans (D) None of these
FAUH fEaTeret 9e9 & TSI fohweh 99T 8 7

(A) 70 (B) W (C) 3THTH (D) T € B3 A

Himalayan Fertilizer Industry is located at which place of H.P. ?
(A) Sundernagar (B) Paonta Sahib (C) Paragpur (D) Nalagarh
fEHTeTIA SHeiteh ITN feuTeret It o fohg T W e g 7

(A) GETR (B) dWiarHiigd  (C) TTH (D) AT
Ribba, ‘the land of grapes’ is located in which district of H.P. ?

(A) Lahaul & Spiti (B) Kullu

(C) Solan (D) Kinnaur
Trea, <SP < el femmeer wew & fha i 1 fdra 2 2
(A) AR 3R Ffd (B) Feel

(C) dreH (D) feak

H.P. Art & Culture Academy was established in which year ?
TEHTaeT TGST Shetl U HEh(d STehIGHT fohd oY | ToITfUd 5% off ?
(A) 1968 (B) 1971 (C) 1978 (D) 1985

Which mirror is used as a shaving mirror ?

(A) Convex mirror (B) Concave mirror
(C) Plane mirror (D) None of these
IfeRT YT 3 &9 H fohH UV 1 SAMT BT & ?

(A) AU (B) 3ITadA gUUl (C)'waaaq‘w (D) T ¥ I TE

Coating used on raincoats are waterproof because
(A) Water is absorbed by the coating

(B) Water is scattered away by the coating

(C) Angle of contact increases

(D) Adhesive force becomes greater

I (ST ) T TYRH SIS (SATETT) AT BIT &, Fifch
(A) IS gRT et eV BT 2 |

(B) hITeT g st wehifota =t feam Sran 2 |

(C) TIeh hIT Sl B |

(D) 3T & AT B ST 2 |

Code No. : C-573/2019/Series-A 26



138. Which is a disaccharide ?
(A) Fructose (B) Glucose (C) Sucrose (D) Xylose
I W T SEAHSS & 7
(A) WheRIS (B) TN (C) g (D) STEel

139. The charcoal used to decolourise raw sugar is
(A) Animal Charcoal (B) Sugar Charcoal
(C) Coconut Charcoal (D) Wood Charcoal
Tsshd N 1 TR i & 1T T3eh wehied 2
(A) Ifi IR (B) IFR AW  (C) IS Ihid (D) TTohe! Iehid

140. Wheat and Potato are

(A) Short day plants (B) Long day plants

(C) Day neutral plants (D) None of these

g 37T 37T B

(A) 3Te9 Y 91eT (B) <t 37afe urew

(C) fooa Fre urew (D) T8 IS TEl
141. Which part of the human body is affected by Falciparum malaria ?

(A) Liver (B) Pancreas (C) Brain (D) Kidney

TG IR T i T ST BT FATET & Jurfad gar g ?

(A) FFd (B) =mE  (C) #fws (D) 9%
142. The most beautiful brick work of the Harappans is found in the

(A) dockyard (B) great bath

(C) fire altars (D) temple like structure

, | T Fad Frel 3¢ I IR TR &
(A) TS H (B) farsmet wmmmR A
(C) firafgewr & (D) Wi St a9 | 7
[wl]

143. Who of the following was not a disciple of Buddha ?
(A) Prasenajit (B) Bimbisara (C) Chetaka (D) Ajatashatru
i d s g H R e ?

(A) SEHRE (B) fafemm  (C) I (D) 3T
144. In north India, Harsha’s authority did not extend over

(A) Kashmir (B) Rajasthan  (C) Punjab (D) Bihar

IR ARG H &Y oh! T foreanica Tt off

(A) HIHR W (B) TNIA W (C) U™ TR (D) fegR™
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145.

146.

147.

148.

149.

150.

Baba Farid was associated with which sufi order ?

(A) Suhrawardi order (B) Qadri order

(C) Chisti order (D) Nagshbandi order

STE1 HIG fohdl Fh! 7a & Fraf-ad 9 7

(A) ge@cima (B) wedwd (C) Towdiaa (D) o< 6d

The rule established by Muhammad Ghori lasted for nearly

(A) 200years (B) 300years (C) 400years (D) 500 years
TErE T gIRT T ST =ell ST

(A) 200 = (B) 300 a9 (C) 40099 (D) 500 9%

Satyagraha launched by Gandhiji meant

(A) passive resistance (B) assertion of truth

(C) tostop work and go on a fast (D) to defy the laws of the land
MESH GRT ST T STl dree o

(A) Tfsra faie st (B) T % T &I

(C) M UHA X IFATH VIR HT (D) Y o =i ht 37arsm b

Block mountains have originated as a result of

(A) folding (B) faulting
(C) volcanic eruptions (D) All of these
STk HISUSH Tehieh THUMHEE®Y 399 5T & 7

(A) deH (B) ¥

(C) STIHE! IR (D) &l

What is the percentage of insolation received by the earth’s surface ?

gl <1 Hag gRI ST AU o1 Tiawrd fhaa1 8 ?
(A) 35% B) 42% ©) 51% (D) 71%

High tides are caused when

(A) the sun, the earth and the moon are in the same line

(B) the sun and the moon are in opposite direction to the earth
(C) Both (A) and (B)

(D) None of these

SR 3 BId & SIe

(A) T, g2t S I=H Th B @I H B § |

(B) 3 3T ==, gesft ot ferafa fem d 8 € |

(C) (A) 3 (B) &

(D) T | I3 &
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151.

152.

153.

154.

158S.

156.

Who among the following is the ‘Secondary Consumer’ in the forest

ecosystem ?
(A) Beetle

(B) Snake

(C) Lion

= 3 9 % 99 uitfefadh 8 fadiees suami 2 ?

(A) 9

In India, anticyclones occur during

(B) @4

(C) I

(D) None of these

(D) 3T & 1S T&

(C) Summers (D) Spring

(C) it

(D) &&=

(C) Paradip (D) Kandla

(A) Winters (B) Autumn

THeh S YR H T <shald 30 8Id @ :
(A) &t (B) <

Which is a tidal port ?

(A) Tuticorin  (B) Marmagao
I G S T R 7

(A) TR (B) HRHETIE

(C) UNE™ (D) hUSAl

Which Article of the Indian Constitution deals with the ‘Right to
Constitutional Remedies’ ?

(A) Article 19

(A) 3= 19

(B) Article 21

(B) 1g=se 21

(C) Speaker of Lok Sabha
e ST T for® 9T TehaT & 7
(A) YRA o & =AATeaT
(C) e quT e

(C) Article28 (D) Article 32
YA AT 61 I AT SAeD¢ TS IU=R T JTYHR’ & grafra g 7

(C) 3q=8g28 (D) FT% 32

President can forward his resignation to
(A) Chief Justice of India

(B) Prime Minister  ggr
(D) None of these fel

How many times, the tenure of Lok Sabha was increased to 6 years ?

(A) 1

(B) 2

Toral IR ATk THT o1 FHRIKIA 6 INT deh SR T T ?

(A) 1

(B) 2

29

(B) g™ wh

(D) T | IS A&

(C) 3 (D) Never
€ 3 (D) et =
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157. The retired judge of High Court is not permitted to practice as a lawyer in
(A) Supreme Court
(B) Any Court in India
(C) The High Court where he retired from
(D) None of these
3 AT o HaT-ga ~ATATEST %hl Tehict oh €9 H 1Y i shl STTAN 781 Bidl &
(A) TEr= A o (B) ¥R ¥ fopeft oft =mamera #
(C) 3= T &l ¥ 98 TATad g31 (D) $H 9 g 81

158. Per capita income is obtained by dividing National Income by
(A) Total population of the country (B) Total working population

(C) Area of the country (D) None of these
TFR 3T ol FHH | &3 0 Tl ek 319 IT6 el @ -
(A) <= HA TGS (B) HoT hrISfie &
(C) <31 T &k (D) T § I T&
159. In case of direct tax, impact of tax and incidence of tax is
(A) on two different persons (B) on same person
(C) any other person (D) None of these
8T S o [T |, o ST THTH 3T S T 3TTId BT &
(A) < e safwa w (B) T & it W
(C) Foreh gt =afr (D) T ¥ IS TE
160. ‘Atom’ is related to ‘Molecule’, in the same way as ‘Cell’ is related to
(A) Matter (B) Nucleus (C) Organism (D) Battery

TTHTY], 379] | I YhR TEf2rd B 58 yhR e grafd 8
(A) TSI | (B) w4 (C) Sa# (D) b

161. Missing terms in the letter series : abca_ _bcaab __ca_ bbc__ aare
& @l : abca__bcaab _ca_ bbc a ad¥ qH g CE
(A) ccaa (B) bbaa (C) abac (D) abba

162. Which Indian tech company has recently partnered with Indian Institute of
Science on robotics and 5G ?
(A) Wipro (B) Infosys (C) Tata (D) Reliance
fope AT 2% Pl 4 81 &1 H TEifded 3R 5G W HRA™ fO5H 99 H 9
WTTe <l & 2
(A) fam (B) 3hIfe® (C) <& (D) FemE
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163. On which date, the Communal Harmony Day is celebrated in India ?
(A) August2l (B) August22 (C) August20 (D) August23
v § fop faif¥ w1 amererfies wiers feag mamn Srar g 2
(A) 21 A& (B) 22 3 (C) 20 3= (D) 23 3=

164. In a row of girls, Veena is 12® from the start and 19" from the end. In
another row of girls, Sunita is 14™ from the start and 20™ from the end. How
many girls are there in both the rows together ?

TSRAT Shl Weh hal H, o I T 12+ 3t 39 ¥ 1941 & | TTefepi i 3/
HAR T GiaT TR F 14 31 377 & 20T 7 | T ari H et fehait creferal & ?

(A) 61 (B) 63 (C) 65 (D) 72

165. Antonym of the word ‘Impulsive’ is
(A) Cautious (B) Considerate (C) Clever (D) Cunning

166. One word substitution for given words ‘A post without remuneration’ is

(A) Voluntary (B) Sinecure (C) Honorary (D) Involuntary

167. You should never laugh the poor.
(A) on (B) at (C) over (D) for
EEE
168. Ig G2 2
(A) &R (B) Aa== (C) F&= (D) ThuA

169. fear w1 afy fawag 3
(A) fR+3/ (B) 43| (C) M:+37| (D) M+3F\

170. I 1 9ga<H &
(A) I (B) 3IT=HE (C) rfareht (D) =T

31 Code No. : C-573/2019/Series-A



Space For Rough Work / Fed B F [T ==

Code No. : (@i gk} /2019/Series-A 32



